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Leaving the blood , entering the tissues

The Fluids in our body helps the drug to be distributed into the cells by 4 patterns

Heparin injection is an anticoagulant.

The aminoglycosides include gentamicin, amikacin, tobramycin, neomycin, and 
streptomycin.
Mannitol is Indicated for reduction of intracranial pressure associated with cerebral 
edema and/or brain mass.

Increase blood volume and blood pressure

Water soluble

(interstitial fluid+ intravascular) !بكون متوزع بمكان



ةريبك ةيمكب هيف نوكتب و -عم ناكمع حورتب

It is used to treat Malaria , its parasite lives in the liver

 ةيلخلا اوج ءازجأب كسم ول
 cellular لا اوج رثك@اب نوكب

components

Redistribution of drugs :
* it means when you give a drug it is first distributed somewhere and then it is redistributed to 
somewhere else.
* this is seen with highly lipid soluble drugs such as thiopental , because these drugs cross the biological 
membrans easily.
* the drug first get distributed to organs with high blood supply (ex: brain, heart, kidney) and because they 
are lipid soluble they diffuse back and gets redistributed into less vascular but more bulky organs (ex: 
muscles and adipose tissue)
* now lets talk about thiopental :if i give it to the patient by IV injection -> it first will increse in the blood 
From here it will enter the brain very rapidly due to high blood supply this result in rapid induction of general 
anesthesia ( ريدخت ) 
At the same time thiopental starts entering the fat and muscles 
Because of this the concentration of thiopentone in blood falls down

(intracellular fluid+ iterstitial fluid+ plasma ) بكون متوزع ب 3 أماكن
 tissue بس في ادوية ما بتتوزع على الث;ث أماكن بالزبط ممكن تكون مركزة على ال

اكتر من باقي اDماكن.



And it doesnt take Very long for concentration to drop to a level where the drug starts 
diffusing back from the brain 
As concentration in brain falls,  the anesthesia disappears...
At this point the drug is largerly taken by fat and muscles because they are more bulky 
NOTE THAT : the thiopentone is not eliminated from the body but its action has 
disappeared due to redistribution 



يعني لو احتجت ارجع تركيز الدواء بالplasma ليصير نفس 
420L حأحتاج tissueال

لحساب الجرعة اAولية التي 
يريد الطبيب اعطاءها للمريض

مثSً شو هي الكمية الي تناولها اNنتحر Nعرفة 
V او Dialysis اذا بثير اعمله

tissueبكون رايح ع ال lerge volume بينما لو كان الدواء ...plasmaبكون رايح ع ال small volume كلما كان الدواء
لو كان ال volume= 3 رح يكون بالplasma ولو كان =12 رح يكون الدواء بالplasma and interstitial ولو كان =20 

.tissue رح يكون بال3 أماكن ولو كان =400 رح يكون متركز كتير بال

ال frusemide هو دواء مدر للبول 

غسيل كلوي



التروية

Produce action

مكان لتخزين الدواء يعني كلما قل ال free بصير 
ال bound يرجعه للكمية الطبيعية



Half-life (t1/2) refers to the time required for 
plasma concentration of a drug to decrease by 50% 

Kernicterus is a type of brain damage that can result from high levels of 
bilirubin in a baby's blood.
The plasma proteins are bounded with sulphonamide except bilirubin , so 
bilirubin is free in the blood it will reach the CNS and beause the premature 
does not have a blood brain barrier the bilirubin will enter the CNS.

كلما زاد ا8رتباط مع pp كلما قل tissue uptake وقل ال distribution والعكس صحيح

toxicity وهيك ممكن يعمل effect of drug يعني زاد ال free وزاد ال boundفقل عندي ال albumin قل عندي ...bound %60 و free %40 لو كان الدواء

ال pp بيحمل عدد كبير من اJدوية فممكن يصير interaction بينهم بحيث انه واحد يضل 
free والتاني يصير bound

أطفال الخداج

jaundice بتسببلي



The foots and the hands are directly attached to the trunk

It is resposible for hearing + balance

هي أخطر مرحلة





QUIZ TIME ⏰
1) NN610 is an investigational cholesterol-lowering agent. N610 has a high molecular 
weight and is extensively bound to albumin. NN610 will have a ....................... apparent volume 
of distribution (Vd).
A. High
B. Low
C. Extremely high
D. Normal

2) Which of the following is true about the blood–brain barrier?
A. Endothelial cells of the blood–brain barrier have slit junctions.
B. Ionized or polar drugs can cross the blood–brain barrier easily.
C. Drugs cannot cross the blood–brain barrier through specific transporters.
D. Lipid-soluble drugs readily cross the blood–brain barrier.
E. The capillary structure of the blood–brain barrier is similar to that of the liver and spleen.

3) A 40-year-old male patient (70 kg) was recently diagnosed with infection involving 
methicillin-resistant S. aureus. He received 2000 mg of vancomycin as an IV loading dose. 
The peak plasma concentration of vancomycin was reported to be 28.5 mg/L. The 
apparent volume of distribution is:
A. 1 L/kg.                          B. 10 L/kg.                              C. 7 L/kg. 
D. 70 L/kg.                       E. 14 L/kg.

4) A 55-year-old male patient (70 kg) is going to be treated with an experimental drug, 
Drug X, for an irregular heart rhythm. If the V is 1 L/kg and the desired steady-
state plasma concentration is 2.5 mg/L, which of the
following is the most appropriate intravenous loading dose for Drug X?
A. 175 mg.                                       B. 70 mg. 
C. 28 mg.                                          D. 10 mg.                     E. 1 mg.


